ANy Y

.41\ EPARSS PE@

IEXARATESEE ALV YR

= ThreadRacer
it 1= HE
numu:

B 89 75 I T B R Hl iRk (C !

TREUIL

ek

-+ 168
El
R-SPEC

HIRE7

N&RAL%E
FEDTIAKT
ANUABIEFEINT

INCONMTHBXLIFRIC!

BEBHEFRENRTTE
UERENZL
HREQEDMLLIZHERIIET
AP

B RU)LZvF(DRT) EDTUIEEE HLEH
9 0.?5 0‘.1 0.‘15 (mm)
DRT 1%E ’E"'"
DRT 72J%H ; I\
2R 7 = IO < FHEH R IF
AT-2R-SPEC 17 7~V§ .‘“\ﬁ\“ (TREESEO4.6M L)
AT-2 R-SPEC 1005%E ﬁ“a\g_ | DLC-IGUSST |\
%?é;fgdiimf??mm?n?ich?Jl]Ié‘x{.%ﬁ BELEE REM
A2 o vemaaomimim it oo R B S B
A= ammiey PAT.in Japan
" - / T E Q&N
IT770—ICTIIOK! s

MEHCEIBRDOIMITIE
HDEZEVT -5

EARICK B RFIEELTLETH
t1b < FHI5HE & DLCO— F DA INEIFIRIC LD
Trhs2Ea8L7 JO—CONMNIHaFEcT!

ALY =Y—-S5]

% 2L wR(Thread) =L

W ek E DN TSR LEE B GEIEIERE £ 0)

? ! i it 1

? ()

TER
(2I78)

AT-2
R-SPEC

M6X1 RUIZTRET10mm ADC12%%
#FRUI 1 Ve=126m/min,f=0.6mm/rev
Zwv7 Vc=94m/min (ATC1[E)

AT-2 R-SPEC : Vc=220m/min,f=1.2mm/rev

n\\:\:\\%" /oﬁ R A

ARk

YOV AYE
* ENOEDEHBERETTEATE,

EXIfGE

ANUAIVRBIF
+RUHIbEEMT

1
AY

LWL
FyIIb—L

mAWU(IR2L)

BESHICKDREERIE




)

| |DCcoN

A ML N HTRUHR FELE ST yUtE
Iy B — SHTVRL SIS E =
/ [ . m without Coolant Hole with Coolant Hole S
=4 CARBIDE o] -
= DLCIGUSS  h6 QFQEQL’*’*’*’* O}:’f—i*’i’i’i’ig’
ol w

}'—J ° M
LF LF
——
. |
& 3

&3
ﬁ;‘iﬂgb‘ﬁt 2D9‘fj B7:mm Unit:mm
Y—JUNo. T BENE =R RARUICRE | BTR | YvVIoRR B RN | EE FREEfAE
EDP No. Thread Size DC LF Maximum threading length LU DCON Flutes Qil Hole Stock (Yen)
8331220 M 3X0.5 24 50 6 7.75 6 2 — O 10,400
8331221 M 4X0.7 3.1 50 8 10.45 6 2 = O 10,600
8331222 M 5X0.8 4 50 10 12.8 6 2 — O 11,100
8331223 M 6X1 4.6 50 12 15.5 6 2 Yes D|O 11,300
8331224 M 8X1.25 6.2 70 16 20.38 8 2 Yes O 17,500
8331225 M10X1.5 7.5 80 20 25.25 10 2 Yes O 18,200
8331226 M12 X1.75 9 80 24 30.13 10 2 Yes O 19,500
EXNDEMEEE CTERATEL, O=#FEEER (EEZCHERTELY)
ﬁ%nl}ﬁt 2.5D9‘(j B :mm  Unit:mm
Y—JUNo. MTE BENEZ =R BRARUIICRE BTR | YvVI8 B BN | EE TR
EDP No. Thread Size DC LF Maximum threading length LU DCON Flutes Qil Hole Stock (Yen)
8331227 M 3X0.5 24 50 7.5 9.25 6 2 — O 10,400
8331228 M 4X0.7 3.1 50 10 12.45 6 2 = O 10,600
8331229 M 5X0.8 4 50 125 15.3 6 2 — O 11,100
8331230 M 6 X1 4.6 50 15 18.5 6 2 Yes D|O 11,300
8331231 M 8X1.25 6.2 70 20 24.38 8 2 Yes O 17,500
8331232 M10X1.5 7.5 80 25 30.25 10 2 Yes O 18,200
8331233 M12 X1.75 9 80 30 36.13 10 2 Yes O 19,500
EXNDrhEHEOETTER TS, O=#FEEER (EEZCHER
EFLETOISLERY T
I t’JﬁIJa{q:Eﬁﬁ [ ThreadProl ZCFIATEL! 7
N TTHE7I AP G
— ZIL=ZO LAGEHFY PIVEZULGEREM - N IRVILE b=
AC4C - ADC A5052 - A7075 - AZ91 - AZ80A C1100
HESRUDHIHA] KB I EHA KBS EHA] KB ECDEHE
SIHLEE (m/min) 100 ~ 300 100 ~ 300 100 ~ 300
20947 2.5DF 17 20947 25D 17 20947 2.5D917
mmee|os 1000 mmee xowe L0 | mmee o ' 00 e wome 100 mmas o 100 mma x| 120
(min™) |(mm/min) (min™)  |(mm/min) (min™) |(mm/min) (min™) |(mm/min) (min™) |(mm/min) (min™)  |(mm/min)

(mm/t) (mm/t) (mm/t) (mm/t) (mm/t) (mm/t)
M 3X0.5 | 24(13,263/ 1,592 | 03 |13,263| 1,592 | 0.3 |13,263| 159 | 0.03 |13,263| 159 | 0.03 [13,263| 159 | 0.03 |13,263| 159 | 0.03
M 4X0.7 | 3.1|14375/ 1,941 | 03 [14,375/ 1,941 | 0.3 |14375| 194 | 0.03 [14,375| 194 | 0.03 |14,375| 194 | 0.03 |14,375| 194 | 0.03
M 5X0.8 | 4 [15915/1910| 03 12,732 1,528 | 0.3 |15915| 255 | 0.04 |12,732| 204 | 0.04 [15915| 255 | 0.04 |12,732| 204 | 0.04
M 6 X1 4.6 |15,224| 2,842 | 04 [11,072] 2,067 | 04 |15224| 284 | 0.04 [11,072] 207 | 0.04 |15,224| 284 | 0.04 |11,072| 207 | 0.04
M 8X1.25| 6.2(12,322| 2,218 | 04 | 8214|1,479| 04 |12,322| 277 | 0.05 | 8214| 185 | 0.05 |12,322| 277 | 0.05 | 8,214| 185 | 0.05
M10X1.5 | 7.5|10,186| 2,037 | 04 | 6,791|1,358| 04 |10,186| 255 | 0.05 | 6,791| 170 | 0.05 |10,186| 255 | 0.05 | 6,791| 170 | 0.05
M12X1.75| 9 8,488/ 1,698 | 04 | 5659|/1,132| 04 | 8488 212 | 0.05 | 5659 141 | 0.05 | 8,488 212 | 0.05 | 5659 141 | 0.05

EXNDHEMHEEE TTEATEL,

EES

- AT-2 R-SPECI3$QUIMTEATY, (B Sl sS

- ThreadProD/\RA & A T (&[2V T)UiED | ZRIRTEL, o v = (-
*ThreadProCHIHIRR S NDYIMFHISBSBETT. THEAVZELICHED. JERHEERED L ﬁi'?ﬁ/_\r%ﬁ/\*{*(;?i)&:)(_‘:mbi_g*o
D— R F vy I OBIEEOEERRCED. PHEEERETE. MITERICBVTHBEINDILZEFTD
- TEORNBEEZRIRICIMI TTHERATEL. CHRTEL,.

RIRVILBEVEIICBVTYIRIMFZ E AT DB IHREIXA—HDHEITDEDZETHERATE,
o IO LT OIE - BRISERT TV BANDINDSHDET,

A-IZZ-HH2tt [~

T442-8543 BHERE)|IMAHSR=TB22%i TEL(0533)82-1111
E-mail : cs-info@osg.co.jp  Web: https://www.0sg.co.jp/

REAEES
T140-0002 ER=#Em/IXERRI4-12-6
@IY—YA4 RFEvFILFT— 190 TEL(03)5715-2966 Copyright ©2021 OSG Corporation. All rights reserved.
FEEAZEES e (- - P N N
+ HRICDOVTIE, BICHR - IBRZIToOTHEOERIDT. FELELLAXAYOITBHtKZ
T550-0013 KBRIFABRMFAXHEI2-4-2 4055 E%?%%ﬁb‘ﬁb i?’aﬂ
TEL(06)6538-3880 « AEBBRNBOHEMEGE - BREREUFT.

TIVT—avEEE
T451-0051 BHELHEHAEXIRHG-1-17 F.326.417. AAg AJg(DN)
BIZrium R R 4K TEL(052)589-8320 24.03



https://www.osg.co.jp/media_dl/thread_pro/index.html?utm_source=qrcode&utm_medium=f_326&utm_campaign=thread_pro

